120.85mm (4.75

162.05mm (5.38")

LENS :HARDENED GLASS

BOLT : SUS304 MBx50
NUT @ SUS304 M8 SPRING-WASHER/NYLON

BODY : NYLON GLASS13% BLACK

ar— SUS304 4+18

*STICKER

COVER : NYLON GLASS13% BL

SERIAL NO : WKO801-0000

NUT : SUS304 M10 SPRING-WASHER/NYLON

0]
169.93mm (6.687)
D
7
EPOM
*STICKER '
HID 4500 35W
4-32 Volts DC BOLT : SUS304 M10%25
WASHER : SUS304 M10#21
SPECIFICATION

1.0PERATING VOLTAGE : 9-32 VOLT DC
2.BALLAST : 35 WATT HID

3.LAWP : 35K / 5000K +500

4 REFLECTOR : PRESS / VACUUM METALIZED
5.LENS : HARDENED GLASS

6. WEIGHT: 830g (1.830bs)
7.VIBRATION : 8.6Gas

8. WEATHER PROOF & DUST RESISTANT

9. TEMPERATURE : -40T~85TC
10.LIFE : 2,000Hrs

11.1P RATING : IPGO

PROTECTIVE TUBE:POLYVINYL (ZSn;m {247

139.7mm (5.5')

~
-

P{

Ve

450mm (17.72)

POWER LEAD WIRE : AVSS 2.0 (AWG #12)
-POSITIVE:RED
~GROUND : BLACK

Global Ligh

[T
= INIT mm DRAWING | CHECK | APPROVAL
% NON SLIP PAD SCALE TITLE 4600
CREATED || 2008.07.04
[VX] Vision X o VX-TS-4600

© Vision Motor Sports, inc. All Rights Reserved.




